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First Semester MBA Degree Exa{ihAtion, July/Augu1t 2022
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Business Stafistics "*s* ik-,.
Time: 3 hrs. u.S *" Max. Marks:100
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Note: 7. Answer an;ffiQ@n fail quesfionsfrod)pl to Q7.
2. Question"ffiffiis compulsory. ';'
3. (Ise of sfuibtical table is allowed. d
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The following data relate to agepf$mployees and
month. Calculate Karl Pearso-n'S coefficient of cot

What are the Componeats"of Time Series Analysis?
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7.1\.\
overfiffIffVork c

d..&e",
follo,t"qin$ distibution give$ryl,e pattem of oveg!ffiffirork done by 100 emplo
lariffi:Find the mean and8D. fofl ;--:s\ '

"OVertime (hrs) YML 15 t5 -20. 2€ -2s 25-30 30-35 35-40
No. of employee$*( 11 20.".;::::::t i+. 35 20 8 6

"+iil,nu*"+" r+x.. .ri: L..+$;ili; :'- (07 MafkS)

?fr,;Fh" following taUffit{$es to the tourist uffiv6tr (in millions) during 2001 to 2007 inlndia.

Year , -4" mol 2002 2003 2004 2005 2006 2007

Tourist arrive (in million) 18 20 23 25 24 28 30

traigffihffire hend by the mptlfod of least squares an estimate the number of touri
would arrive in the year 20_l\ -

,ry; ,
Define Correlation and R$SYbssion.

The score of nvo*.htsman A and B in 10 innings during a certain season

Find which 
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Mean life (in hrs

Sick (da

A 32 28 47 63 7l 39 10 60 96 t4
B t9 3l 48 83 67 90 10 62 40 80
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The following table given the numbers days in,Wo.
i'fu,+ (03 Marks)

ffi0=d'ay period during automobile accidents
Define Hypothesis?

occurred in a city. F

c.

,dP
Subiect Agp* ilood pressure

A 4 128

B iq6s.'+ 120 ":;'::.-.=;:

Ctu, "o 56 13,S E:"
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;w 70 Ts2
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c. A liiospital has 20 kidriil$, dialysis m4cti{fles and the chance of any one of theni

.^',!'ifi:Elfunctioning duripg#ry day is 0.02. You,,,fire required to find the probability that exactly 3

{.#*chines will be p4$%#hervice on the same day then.'*i) 
Can we use the-ffitrbminal formuld-tp find out this probability?'*'i; 
Can we use the*6Thbminal formu].fu find out this probability?
If yes, cal@t$ the probabilit$ry*

ii) Can we 1{lqthe Poisson formula'tb find out this probability?
If yes, cibtflate the probability? (10 Marks)

**,
a. What is Time Series Anlirffiis? (03 Marks)

b. Explain the steps in formulating of Hypothesis. (07 Marks)

c. Out of a sample. gf;tZ0 persons in a village, 76 persons were administered a new drug for
preventing inflUffi"and out of them 24 persons were a attacked by influenza out of those

who were not'I%dninistered the new drugs, 12 persons were not affected by influenza.

(07 Marks)

Prepare 2.xNtable showing and expected ftequencies. Chi square test for finding the new

during irye!ffe ctive or not. l1ilt 5% level of one degree of freedom, the value of X' is 3 .84] .

(10 Marks)i*' zof3
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ind a Poisson distnbutlon. !::

Number of Accid&# 0 I 2 3 4'....,

+ tii,
Number.of;d$$ 21 18 7
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